AERODRAULIC FORK 1950-53

No.| Part No. Description Year No.| Part No. Description Year
— | 426025-E Forks: Complete with triple trees 50-51 35| 524015 Insignia: Wing, chrome 92-53
— | 426025-L Forks: Complete with triple trees 52-53 36 | 922003 Lock Washer, #8 s/s (2) b/pk 52-53
1 | 1855001 Ba?"é finﬁ'?; sc:r;:kelt hlt-:?g, c0.53 37 | 604003 Nut: 8-32 s/s (2) 5/pk 52-53

g-24 X 11/8" s/s, Inc - - Eili
2 | 1855001 Washer: Lock, 3" s/s, 5/pk 50-53 38| 751511 1204 % Sh sl ESEE;%.( 92-03
3 | 284005 Cap nut: Chrome 50-53 39| 604006 Nut: #12 s/s, (2) 5/pk 52-53
4 | 607016 Nut: Jam (2) 50-53 Bracket set: set of 4 )
5 | 341006 | Cover: Jam nuts, polished stainless | 50-53 40] 515052 brackets w/fasteners 0eod
6 | 380001 Hand wheel- Dampener 50-53 41| 922003 Lock Washer, #8 s/s (2) 5/pk 52-53
it Ri Screw: Round head, ]
7| 885205 | sockethead, s/s, setof 4 inci#g  |50-53| |42 [754206A 8-32 X % s/s (2) 5/pk 0o
8 | 855205 | Screw Kit: Riser, Lock washer, %" s/s | 5053 | | 43| 160007 Insignia: Roadmaster, lower 9293
9 | 229007 Cap: Riser (2) 50-53 44| 710011 Snap ring: Seal (2) 50-53
10 | 229011 |Riser: Handlebar mounting with cap (2) [50-53 | | 49| 927031 Washer: Flat, Felt retaining (2) | 50-53
Bushing Kit: Risers to fork, 46 | 916008 Felt: Seal wiper (2) 50-53
11 {1248002-K Kiwi modification A0-03 47| 762011 Seals: Leak proof, upgrade (2) | 50-53
Bushing kit: Risers to fork, i 48 | 192006 Bushing: Upper (2) 50-53

12 |1248002-K Kiwi modification 203 49 | 1710013 Cushion ring: (2) 50-53

13 [1248002-K Bushing Kit: Risers to fork, 50-53 50 | 888018 Lower leg: Left 50-51
— . Kiwi mt.:_:rdmc_at_lnn 50| 888028 Lower leg: Left 52-53

Note: Kiwi riser insulating bushing Kit is a must do safety :
upgrade. This makes for positive motorcycle control and 51| 605012 Nut: Jam, %-24 s/s (2) S/pk 50-53
handlebars will not dislodge while riding. 52 | 1452004 | Washer: Drain screw sealing (2) 5/pk | 50-53

14 | 227012 . 'I_'rlple.t_ree.. Upper 20-53 53| 854001 Scrae_*gé I}Z{}r&?p S?SDF,IQ()EtS Pekad, 50-53
15 |1248002-K ushing Kit: Risers to fork, 50-53 _ 2 P

Kiwi modification 54 | 888021-K Nut: Dampener rod assy 90-53

16A| 227011-S Stem, replacement 50-53 55| 888021-K Valve: Dampener rod assy 50-53

16B| 227011 Lower Tripple Tree with Stem 50-53 56 | 888021-K Rod: Dampener rod assy; 50-53
17 | 927022 Cover: Bearing upper 50-53 57 | 888021-K Cap nut: Dampener rod assy 50-53
18 | 189005 Bearing: Upper 50-53 58 | 1454003 Gasket: Plunger sealing (2) 50-53
19 | 37904 Key: Upper triple tree 50-53 59| 16A61 Nut: Plunger rod upper (2) 50-53
20| 189010 Bearing: Lower 50-53 Lock Washer, Dampener rod upper,

21 | 227011 Triple tree: Lower w/stem 50-53 00| 922008 s/s (2) E!pk i 20-93
22 | 843011 Stud: Damp anchor plate in T/T | 50-53 61| 892007 Spacer Tube: Spring (2) 50-53
23 | 647008 Plate: Steering dampener (2) 50-53 62| 927030 Washer: Fork spring (2) 50-53
24 | 917002 Disc: Friction (2) 50-53 63 | 810006 Spring: Fork (2) = 50-53

: i 63 | 810006-R Spring: Progressive rate (pr 950-53

25 | 647017 long remforeemant tab). 20531 g4 888020 Tube: Fork (2) 50-53
26 | 809018 Star washer: Tension 50-53 65| 192005 Bushing: Lower (2) 50-53
27 | 809028 Stud: Spindle 50-53 66a| 606010 Nut: 5he-24 s/s (2) 5/pk 50-53
28 | 843008 Stud: Dampener plate in frame 50-53 66b| 922007 Lock Washer, 516" s/s (2) 5/pk 50-53
29 | 922008 Lock Washer, 3" s/s (2) 5/pk 50-53 67 | 254117 |Pinch bolt: Axle, front w/special nut (2) | 50-53
30 [ 207219 | Bolt: Pinch, fork leg 36" x 134" s/s (2) | 50-53 68 | KI-10742 Bracket: Fender mounting 50-53

Screw: Filister head, ) 69| 888017 Lower leg: Right 50-51

S| P1% 12-24 X %" s/s (2) S/pk o 69 | 888029 Lower leg: Right 52-53
32 | 922005 Lock Washer, #12 s/s (2) 5/pk 92-93 70 [ 916010-R | Guide ring: Cover, centering (pr) | 50-53
33| 781015 Shield: Fork, behind head light 52-53 71| 916010 Felt: Cover, inside 50-53
34 | 479003 Grommet 92-93 72 |333005-CH Cover: Upper tapered, chrome 50-53

73| 1479001 Grommet: tapered cover top 50-53
74 | KI-10741 | Oil: Fork, Qt, New 80z/leqg, refills 6oz | 50-53
62

AERODRAULIC FORK 1950-53

Inc

MOTORCYCLES

63



